Repressors

Phosphofructokinase is an enzyme that must be transcribed in order for glycolysis to occur. If too much Citrate from the Krebs cycle or too much ATP is present in the cell, this enzyme will not be produced.

From the information given above determine the following:

· Is this a repressible operon or an inducible operon?

· Explain why it is repressible or inducible.

· Draw a diagram to show how your repressor works. (This may be several sequential diagrams.)

Repressors

Insulin is used by the body to lower levels of glucose in the blood. If too much glucose is present, the hormone will need to be produced in larger quantities.

From the information given above determine the following:

· Is this a repressible operon or an inducible operon?

· Explain why it is repressible or inducible.

· Draw a diagram to show how your repressor works. (This may be several sequential diagrams.)

Repressors

Arabinose is sugar that is commonly used by bacteria for nutrients. An enzyme called arabinase must be produced to breakdown this sugar. If arabinose is present, more of the enzyme will be produced. 

From the information given above determine the following:

· Is this a repressible operon or an inducible operon?

· Explain why it is repressible or inducible.

· Draw a diagram to show how your repressor works. (This may be several sequential diagrams.)

Repressors

Maltose is a sugar that is used by cells for energy. An enzyme called maltase must be produced to breakdown this sugar. If maltose is present, more of the enzyme will be produced.

From the information given above determine the following:

· Is this a repressible operon or an inducible operon?

· Explain why it is repressible or inducible.

· Draw a diagram to show how your repressor works. (This may be several sequential diagrams.)

Repressors

Phenyalanine is an amino acid whose production is controlled by several genes. If phenylalanine is present in large quantities, the amino acid will not be produced.

From the information given above determine the following:

· Is this a repressible operon or an inducible operon?

· Explain why it is repressible or inducible.

· Draw a diagram to show how your repressor works. (This may be several sequential diagrams.)

Repressors

Glycine is an amino acid that can either be produced by a set of genes in the cell, or ingested and taken up by cells. If glycine is present in large quantities, the amino acid does not need to be produced.

From the information given above determine the following:

· Is this a repressible operon or an inducible operon?

· Explain why it is repressible or inducible.

· Draw a diagram to show how your repressor works. (This may be several sequential diagrams.)
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